ITI Computer Operator and Programming Assistant (Java) 1st
Year Module 9 Network Communicating & Internet Concepts

(1). What is the long form of e-mail? | e-mail BT aﬁﬁw T %?
(A) Electrical Mail

(B) Electronic Mail

(C) Electrical Mailing

(D) Electronic Mailing

Correct Answer : B

(2). Which is the valued DOMAIN name form the following? | ﬁqﬁl@aﬁﬁaﬁ'—rm
HEqUl SHA- ATH 872

(A) www.nimi.gov.in

(B) wwww.nimi@gov,in | www.nimi.gov,in

(C) www.nimi.test.gov.in

(D) www.nimi/test@gov/in

Correct Answer : A

(3). Which type of cable to connect different type of device in network? | Acas A fafua

THR F UGV $1 igA &b RIT 5 yoR # Fad &1 ST H1 32
(A) Cross cable | T bad

(B) Straight cable | }T Had

(C) Rollover cable | AA3MGR Had

(D) Yost cable | TRT PaA

Correct Answer : B



(4). What is the full form of WWW? | WWW T e WIH &1 81T 82
(A) World Wind Web

(B) World Wide Writer

(C) Website Wind Writer

(D) World Wide Web

Correct Answer : D

(5). What is the full form of ADSL? | ADSL &T Ul ™1 &I 82
(A) Asymmetrical Digital System Line

(B) Automatic Digital Subscriber Line

(C) Asymmetrical Digital Subscriber Line

(D) Asynchronous Digital Subscriber Line

Correct Answer : C

(6). Which is need for real time audio - video conferencing requires two way communication?

| Sraa ergH Aifsal-difesa HIpRi & o fras! smaxaewdr § g TRE FHYAHIH
P TIHT lelt 82

(A) Receivers and senders | REflaR 3R A8
(B) Packet to frames | Gdre Tl ®¥ & g
(C) Pixels to packets | fUFa@ & Udbe

(D) Frames to pixels | faaAd & forg

Correct Answer : A

(7). Which server load reduces by proxy server? | UTRT Td¥ 5 Idi s ) 1 Bl
a2

(A) Proxy server

(B) Node server



(C) Domain server
(D) Original server

Correct Answer : D

(8). What is wired equivalent privacy? | am-s‘q%%a?umﬁwﬁam%?

(A) Security algorithm for Ethernet | s‘uﬁe%ﬁuﬁ?&nwﬁﬂm

(B) Security algorithm for wireless network | am?ﬁvﬁea%%ﬁ«rqﬁ?&nwﬁﬁaﬁ

(C) Security algorithm for USB communication | USB W%Wﬁ?&ﬂmﬁm

(D) Security algorithm for parallel connection | JHTHTAR W%m \ﬂ?&ﬂ‘!ﬁ'ﬁﬁm

Correct Answer : B

(9). Which transmission media has the highest transmission speed in a network? | fo<it

Aead § f craftmm difsar 1 crafimm afie vea srergidi 82
(A) Coaxial cable | HITfRIST Haa

(B) Twisted pair cable | fg¥¢s U= Hha@

(C) Optical fiber | STTPHT BISET

(D) Electrical cable | SAfFEHd Had

Correct Answer : C

(10). Which device connects multiple network segments along with the data link layer? | Cac|

1 f&ars¥ Ser it duR & 1Y B3 Aeas A P wiigd 32
(A) Hub

(B) Router

(C) Bridge

(D) Switch

Correct Answer : C



(11). Which is defines the packet filtering firewall rules? | P9 91 Udbe fthee N1 wravara
foraui &Y afvuTfia srar 82

(A) Access control list | T HUSIA foRe
(B) Protocols | MEIhId

(C) Policies | UTferRITT

(D) Ports | UIdT

Correct Answer : A

(12). Which type of network connection covered 10 Km to 1000 Km area? | fPaYPR &1

Acadh B9 10 fHH A 1000 fHH &7 B FaT HIATE?

(A) LAN
(B) WAN
(C) MAN
(D) CAN

Correct Answer : B

(13). Data communication system spanning states, countries or whole world is N TIW-T,

<30 a1 gt gfrar § el SerEaR ol 31
(A) LAN
(B) WAN
(C) MAN
(D) PAN

Correct Answer : B

(14). How many pairs of wires contains in category 5 UTP cable? | gut sutp FIAH AR &

fpaa e 82
(A) 3

(B) 4



(C) 5
(D) 6

Correct Answer : B

(15). Which is default network mask for class A? | G A & iU fEWTee Acad ARD B
qre?

(A) 255.0.0.0

(B) 255.255.0.0

(C) 255.255.255.0
(D) 255.255.255. 255

Correct Answer : A

(16). What Is full form of WAN? | WAN &1 Ui 3= &1 872
(A) Wide Area Network

(B) Wide And Network

(C) Web Area Network

(D) World Area Network

Correct Answer : A

(17). What is the full form of IP? | IP T JUf 31 &7 §?
(A) Internet Protect

(B) Intranet Protocol

(C) Internet Protocol

(D) International Protocol

Correct Answer : C

(18). What is the full form of TCP? | TCP &1 Hd WIH o1 il 872



(A) Test Control Protocol

(B) Transfer Control Protocol

(C) Transport Control Protocol
(D) Transmission Control Protocol

Correct Answer : D

(19). Which of the following cable transmits messages in the form of light waves? |

frafafaa & @ o1 a1 had arge do9 & U | A YT HdT 82
(A) STP cable | STP Hhad

(B) UTP cable | UTP $dd

(C) Co-axial cable | 1-TfTTd Haa

(D) Optical fibre cable | TTPHH WIS HaA

Correct Answer : D

(20). What is the main advantage of intranet over than Internet? | R?ﬁ?ilﬁ Wﬁ@lﬁ?
BT YT ATY T 82

(A) Multi user

(B) Public network

(C) Safe

(D) Un-limited information

Correct Answer : C

(21). What is the full form of SIP in voice over IP? | qray 3MiaR 1P H sip &1 NWW%'?
(A) Session Initiation Port

(B) Session Initiation Protocol

(C) Session Initiation Path

(D) Session Initiation Packet



Correct Answer : B

(22). Which is an example for WAN? | WAN %ﬁqaﬁﬂwmﬁv
(A) Ethernet | g?ﬂﬁf

(B) Home network | eﬁtrﬁza%

(C) Campus network | FUY Acad

(D) Bluetooth network | WUW

Correct Answer : A

(23). What is the full form of HTTP? | HTTP PTHd Y T BT 82

(A) Hyper Transfer Text Protocol
(B) High Text Transfer Protocol

(C) Hyper Text Transfer Protocol
(D) Hyper Text Transducer Program

Correct Answer : C

(24). Which kind of firewall is connected between the device and network connecting to

Internet? | f&ATSH 3R Se3Ac A HAgE 11 aTd Acad & 9 f5 Y UPR &1 BRRAd
PaC g3 8?2

(A) Hardware firewall | STSAYY BIRATd
(B) Software firewall | T duR wravaid
(C) Inspection firewall | mﬁm’ﬁ
(D) Microsoft firewall | Wﬁﬁ'ﬂwm’ﬁ

Correct Answer : A

(25). Which device used for modulation and de-modulation? | ﬂ'\l’:‘ﬂam Gﬁ?é’f—ﬂ'\l’:‘ﬂaﬁﬂ
& forg fpw fearsa &1 Sudi far wrar 32



(A) Hub | &9

(B) Bridge | forst
(€) switch | FRaa
(D) Modem | HISH

Correct Answer : D



